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TRIG-STAR PROBLEM LOCAL CONTEST

PRINT NAME:

B
ALl C
KNOWN: DISTANCE AB = 179.12 DISTANCE BC = 375.63
REQUIRED ANSWER FORMAT
FIND: <~ CBA = (5 POINTS) DISTANCES: NEAREST HUNDREDTH
ANGLES: DEGREES—MINUTES—SECONDS
DISTANCE AC = (5 POINTS) TO THE NEAREST SECOND
KNOWN: DISTANCE EF = 190.81 o2 EFG = 120°57'18" 2 FEG = 42'24'54"
FIND: =« EGF = (6 POINTS)
DISTANCE EH = (6 POINTS) REQUIRED_ANSWER FORMAT
DISTANCES: NEAREST HUNDREDTH
DISTANCE FH = (6 POINTS) ANGLES: DEGREES-MINUTES—SECONDS
TO THE NEAREST SECOND
DISTANCE FG = (6 POINTS)
DISTANCE GH = (6 POINTS)

PAGE TOTAL: POINTS
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TRIG-STAR PROBLEM LOCAL CONTEST

92°95¢

KNOWN: DISTANCE BC = 515.68 DISTANCE CD = 256.26

I

A BAD = 8320724"
FIND: DISTANCE AB = (10 POINTS)
REQUIRED ANSWER FORMAT
DISTANCE AD = (10 POINTS) DISTANCES:  NEAREST HUNDREDTH
DISTANCE AC = (10 POINTS)

PAGE TOTAL: POINTS
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TRIG-STAR PROBLEM LOCAL

A MANUFACTURING PLANT WOULD LIKE TO EXPAND BUT NEEDS MORE SEWER

CAPACITY. THE CITY HAS AGREED TC HELP BY INSTALLING A

A RECTANGULAR SHAPED VACANT LOT TO A NEW MANHOLE FOR THE PLANT'S
THE SEWER LINE WILL NEED AN AREA 79.73 IN WIDTH FOR

CONVENIENCE.
CONSTRUCTION AND MAINTENANCE PURPOSES. THIS AREA IS
© VACANT LOT SUCH THAT THE OPPOSITE SIDES PASS THROUGH

OF THE LOT. THE OWNER OF THE VACANT LOT WOULD LIKE MORE INFORMATION BEFORE

SELLING THE SEWER AREA TO THE CITY.

EXISTING SEWER MANHOLE
/ STATE STREET

CONTEST

NEW SEWER LINE ACROSS

TO BE PLACED ON THE
THE DIAGONAL CORNERS
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MILITARY ROAD
FIND: NEW SEWER MANHOLE FOR
MANUFACTURING PLANT
DISTANCE AC = (5 POINTS)
DISTANCE AE = (6 POINTS)
DISTANCE CE = (6 POINTS) REQUIRED ANSWER FORMAT
DISTANCES: NEAREST HUNDREDTH
AREA ABCE = (6 POINTS) AREA: NCAREST WHOLE UNIT
AREA CDE = (7 POINTS) PAGE TOTAL: POINTS
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TRIG-STAR MISCELLANEOUS DATA

RIGHT TRIANGLE FORMULAS

PYTHAGOREAN THEOREM: o+ bf= ¢

AREA:  Lab
TRIGOMETRIC FUNCTIONS: sin A = & cos A =%
-a
tan A = 5
OBLIQUE TRIANGLE FORMULAS
. a b c
LAW OF SINES: sin A sinB = snC

LAW OF COSINES: ¢®*= b*+ c?— 2bcCos A

AREA:  1bh

rof

CIRCLE FORMULAS

DIAMETER = d RADIUS = r

CIRCUMFERENCE: 2%r or wd
AREA: a2

ONE DEGREE (1°) OF ARC = 60 MINUTES (60") OF ARC
ONE MINUTE (1’) OF ARC = 60 SECONDS (607) OF ARC

THEREFORE ONE DEGREE OF ARC (17) = 3600 SECONDS
OF ARC.




TRIG-STAR ANSWER KEY LOCAL CONTEST
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DISTANCE AC =
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DISTANCE EH =
DISTANCE FH =
DISTANCE FG =
DISTANCE GH =
PAGE 2
DISTANCE AB =
DISTANCE AD =
DISTANCE AC =
PAGE 3
DISTANCE AC =
DISTANCE AE =
DISTANCE CE =
AREA ABCE =
AREA CDE =

COPYRIGHT — NSPS




